0.054

0.052

0.050

0.048

206 Pb* / 238 U

0.046

0.044

0.042

330

320

w
=
o

300

290

206pp* [ 28 age (Ma)

280

270

A

Li2016Lithos_EK-1.csv

N=15,n=14

2D weighted mean [95% conf.] (MSWD=1.38)
- Concordia age = 298.3 + 2.3 Ma [95% conf.] (MS

0.25

C

0.30

0.35

207 Pb* / 235 U

0.40

N=15n=14

|

|

Weighted mean = 298.65 + 2.42 Ma [95% conf.] (MSWD=1.81)
- Error bars are 95% conf.

——et——
—————

—re

——e—1——

—————

————f

—

Number of samples

6

8

10

12

14

16

207 Pb* / 206 Pb*

B
0.09 T T T T T
N=15n=14
2D weighted mean [95% conf.] (MSWD=1.61)
0.08 | Concordia age = 298.1 + 2.3 Ma [95% conf.] (MSWD=1.72)
0.07 - :
0.06 - i
340 330 270

0.05 i
0.04 '

18 19 24

D

5 . 2.0
w 4T
Q 115
o
S
@© 3|
n
S {1.0
o =
o 2f
S
= 40.5

1k

' ' 0.0
270 280 290 300 310 320 330

206pp* / 238U age (Ma)

Th/U



